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hesphorous  acid | H3POs trisulfer monoiodide s
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Give the answer using the proper amount of significant figures and a unit.
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1. 345.00g+34.9g= J/ 7. Z f;

12.009 mL =

1S gq/m C
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2. 45.09¢g/

~

3. 345.10g+34.9 g=

4. 45.090 g/12.009 mL =
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Give the answer using the proper amount of significant figures and a unit. Show your work.

9. Give the molar mass of NaCl.
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10. Give the molar mass of H-S. 7
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13. Convert 1.25 x 102 atoms Mg to g Mg.
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14. Convert 1.25 x 10" g Fe to mol Fe.

5. 340g+349g=

6. 45.0g/12.009 mL =

7. 18g+1409 g=

8. 250g/12.009mL= /().

11. Give the molar mass of Fe(OH)s.
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" 12. Give the molar mass of H;PO:s.
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15. Convert 1.25 x 10'? atoms C to mol C.
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Convert 1.25 x 10" g C to atoms C.
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Convert 2.3 x 10'? g Ca to mol Ca.
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Convert 2.3 x 10'? g Ca to atoms Ca
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Convert 2.3 x 10'? atoms Cr to mol Cr.
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Convert 2.3 x 10'? atoms Cr to g Cr.
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Give the noble gas configuration for nickel.
Give the orbital notation for carbon.

Give the electron configuration for aluminum
Give the noble gas configuration for iodine.
Give the orbital notation for aluminum.

Give the electron configuration for sulfur.

Give the noble gas configuration for silver.
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